BA—4

A A E Ny \ P
T H & &= K B o R
T FE i 1| Al all| #H ¥ AL = fii
THEK R
= 1
+T
= 1
A-LINE
= 1
R Tab, REUE LRI L
m3 240
WRL Be R NS ImPA_F4Am AT
m3 90
RRESCE L=6. 0kmLL T
m3 140
B-LINE
= 1
PR T, e LRl
m3 290
HEL S R B ImPA - AmASTis
m3 10
HEREL B RS ImA it
m3 100
ERESCEI L=6. 0kmPL T
m3 160
BEAKAE &Y T
= 1
A-LINE
= 1
B 5007
m 77

AR v B A




BA—4

N A E < \
T F= ¥ = & £ oA R
T FE i 1| Al all| #H ¥ AL = fii

AT 2R ) B AR 300 X 600%!

m 1
AR A AR 300 X 7007

m 2
AT 2R R AR 300 X 700%1G

m 2
] 2R ) B AR 300 X 800%!

m 5
AR A AR 300 X 800716

m 2
w25 A BRI 300X 9007

m 8
w25 A BRI 300 X 900716

m 4
AR A AR 300 X 10007

m 7
AT ZE ) AR 300 X 1000%1G

m 2
CoZ il HE 300

e 30
I Vv=Fu )T EhR H3E 1300

e 5
IREEVIV

F 1
2 K

# 1
3K

# 1

AR v B A




BA—4

M =. Ny
T % #% & # f £ oA
T FE i 1| Al all| #H ¥ AL = fii

4K

# 1
5 HE K

# 1

B-LINE

= 1
(=SSN iTFs HZE3007!

m 54
IR PR 4007

m 52
(e iRt hs HEEEF5007H

m 40
6 52K

# 1
75 B K

# 1
8 AR K

H 1
9 AR K

# 1
105 SE Kt

# 1
1154kt

F 1
1254 Kt

# 1
13 55Kt

# 1

AR v B A




BA—4

T = % & K & oA
T FE i 1| Al all| #H ¥ AL = fii

1454 Kt

# 1
15 55Kt

# 1
BERR A K bk k&

(£ 1
WEEER T 0 s

m 1

X R T
= 1
A-LINE

= 1
X T

m 110

- BHET
= 1
WET

= 1
RS w] 28 ) Bic (R 44
*= m 110
BERRNER S

m 80
CoBOE

m3 30
CotiLsy

m3 90
AsEEERR D) T

m 270

AR v B A




BA—4

N A E
T &= & = ¥ oA R
T FE i 1| Al all| #H ¥ AL = fii
AsHlHE IR A
nt 610
AsiE
m3 60
AsTRALSy
m3 60
AsEHEERR BT 7K AL
i m3 0. 63
BT
= 1
FE (i - BEW | BEL 4kl t=5cm
) ot 270
g (HE - BE | BRI 4nk  t=5em
) nf 270
e A HERIFMA t=15cm
nt 610
T8 B HAEITyvv-77  t=15cm
m 610
BT
= 1
s R
= 1
SR (R
#EF) = 1
WTEL
= 1
BGE e
= 1

AR v B A




BA—4

T &FH & = ¥ F *£ oA R
T FE i 1| Al all| #H ¥ AL = fii
T JEU
= 1
— W E
= 1
T Al
= 1
THE DAL O
HE DA = 1
THHG
= 1

AR v B A



